

On multisets and multigroups

SK. NAZMUL, P. MAJUMDAR, S. K. SAMANTA

Received 8 February, 2013; Revised 13 March, 2013; Accepted 12 April, 2013

ABSTRACT. In this paper we have introduced the notion of multigroups (in short mgroups) and study its important properties. We have shown that the intersection of two mgroups is again a mgroup but their union may not be a mgroup. It has been also shown that the homomorphic image and pre image of a mgroup is again a mgroup. Next we have defined the notions of submgroups, abelian mgroups, normal mgroups and factor mgroups and study some of their properties. In this paper we have also studied some basic results regarding msets, like functional image and pre image of a mset under a mapping, decomposition theorems of msets etc.

2010 AMS Classification: 54A40, 03E72, 20N25, 06D72

Keywords: Multisets, Multigroups, Submultigroups, Abelian multigroups, Normal multigroups, Factor multigroups.

Corresponding Author: P. Majumdar (pmajumdar2@radiffmail.com)

1. INTRODUCTION

Theory of Multisets is an important generalization of classical set theory which has emerged by violating a basic property of classical sets that an element can belong to a set only once. The term multiset (mset in short) as Knuth [21] notes, was first suggested by N. G. de Bruijn [5] in a private communication to him. Owing to its aptness, it has replaced a variety of terms viz. list, heap, bunch, bag, sample, weighted set, occurrence set and fireset (finitely repeated element set) used in different contexts but conveying synonymity with mset. It is a “set” where an element can occur more than once. Multisets are very useful structures arising in many areas of mathematics and computer science such as database queries. Many authors like Yager [30], Miyamoto [25], Hickman [19], Blizard [3], Girish and John [16, 17] etc. have studied the properties of multisets. Some authors have also generalized the notion of multisets in cases of fuzzy sets and soft sets to form fuzzy multisets [23], soft multisets [24, 2] etc. One of the important applications of fuzzy multisets is in

information retrieval on the web, since an information item may appear more than once with possibly different degrees of relevance to a query. Except this, multisets and fuzzy multisets have been applied in multiple type of scenario's such as in statistics, multicriteria decision making, knowledge representation in data based systems, biological systems and membrane computing [30, 26, 20, 27, 28, 22]. More works on multisets can be found in [4, 18, 6, 7, 8, 9, 10, 11, 12, 13, 14]. Again the theory of groups is one of the most important algebraic structures in modern mathematics. Several authors have introduced the notion of group in fuzzy sets [29], intuitionistic L-fuzzy sets [15], soft sets [1] etc. Therefore the study of group structure in multisets is very natural. Here we have introduced a notion of group in multiset setting. The organization of the rest of this paper is as follows:

In section 2, some preliminary definitions and results regarding multisets have been introduced. Also we have studied the image and preimage of a mset under a mapping. A decomposition of a multiset into a family of ordinary set and vice-versa has also been discussed here. In section 3, the notion of multigroup has been introduced. Several properties regarding multigroups are studied and notions like normal multigroup, factor multigroup etc are also defined in this section.

2. PRELIMINARIES

In this section definition of a multiset (mset in short) is given and studied its properties. Unless otherwise stated, X will be assumed to be an initial universal set and $MS(X)$ denote the set of all mset over X .

Definition 2.1 ([17]). An mset M drawn from the set X is represented by a Count function C_M defined as $C_M : X \rightarrow N$ where N represents the set of non negative integers.

Here $C_M(x)$ is the number of occurrence of the element x in the mset M . The presentation of the mset M drawn from $X = \{x_1, x_2, \dots, x_n\}$ will be as $M = \{x_1/m_1, x_2/m_2, \dots, x_n/m_n\}$ where m_i is the number of occurances of the element x_i , $i = 1, 2, \dots, n$ in the mset M .

Also here for any positive integer w , $[X]^w$ is the set of all msets whose elements are in X such that no element in the mset occurs more than w times and $[X]^\infty$ is the set of all msets whose elements are in X such that there is no limit on the number of occurances of an element in a mset. As in [17], $[X]^w$ and $[X]^\infty$ will be referred to as mset spaces.

Definition 2.2 ([17]). Let M_1 and M_2 be two msets drawn from a set X . Then M_1 is said to be *subset* of M_2 if $C_{M_1}(x) \leq C_{M_2}(x)$, $\forall x \in X$. This relation is denoted by $M_1 \subseteq M_2$. M_1 is said to be *equal* to M_2 if $C_{M_1}(x) = C_{M_2}(x)$, $\forall x \in X$. It is denoted by $M_1 = M_2$.

Definition 2.3 ([17]). Let $\{M_i; i \in I\}$ be a nonempty family of msets drawn from the set X . Then

- (a) Their *Intersection*, denoted by $\bigcap_{i \in I} M_i$ where $C_{\bigcap_{i \in I} M_i}(x) = \bigwedge_{i \in I} C_{M_i}(x)$, $\forall x \in X$.
- (b) Their *Union*, denoted by $\bigcup_{i \in I} M_i$ where $C_{\bigcup_{i \in I} M_i}(x) = \bigvee_{i \in I} C_{M_i}(x)$, $\forall x \in X$.

- (c) The *Complement* of any mset M_i in $[X]^w$, denoted by M_i^c where $C_{M_i^c}(x) = w - C_{M_i}(x), \forall x \in X$.

Definition 2.4. Let M be a mset over a set X . Then we define a set $M_n = \{x \in X : C_M(x) \geq n\}$, where n is a natural number, is called n -level set of M .

Example 2.5. Let $X = \{a, b, c\}$ and $M = \{a, a, b, b, b\}$. Then $M \in MS(X)$ and the level sets of M are $M_1 = \{a, b\}$, $M_2 = \{a, b\}$, $M_3 = \{b\}$ and $M_n = \{\phi\}$, $n \geq 4$.

Proposition 2.6. Let A, B be msets over X and $m, n \in \mathbb{N}$.

- (i) If $A \subseteq B$, then $A_n \subseteq B_n$;
- (ii) If $m \leq n$, then $A_m \supseteq A_n$;
- (iii) $(A \cap B)_n = A_n \cap B_n$;
- (iv) $(A \cup B)_n = A_n \cup B_n$;
- (v) $A = B$ iff $A_n = B_n, \forall n \in \mathbb{N}$.

Proof. The proofs are straightforward. □

Definition 2.7. Let $P \subseteq X$. Then for each $n \in \mathbb{N}$, we define a mset nP over X , where $C_{nP}(x) = n, \forall x \in X$.

Example 2.8. Let $X = \{a, b, c\}$ and $P = \{a, b\}$. Then $1P = \{a, b\}$, $2P = \{a, a, b, b\}$, $3P = \{a, a, a, b, b, b\}, \dots, nP = \{a, a, \dots n \text{ times}, b, b, \dots n \text{ times}\}$ and $nP \in MS(X), \forall n \in \mathbb{N}$.

Theorem 2.9. (First Decomposition Theorem) If $A_n, n \in \mathbb{N}$ be the level sets of a mset A over X , then $C_A(x) = \sum_{n \in \mathbb{N}} \chi_{A_n}(x)$, where χ_{A_n} is the characteristic function of A_n .

Proof. Let $x \in X$ and $x \in A_p, p = 1, 2, \dots, p$ but $x \notin A_{p+n}, n \in \mathbb{N}$.

Then $C_A(x) = p$ and

$$\sum_{n \in \mathbb{N}} \chi_{A_n}(x) = \sum_{n=1}^p \chi_{A_n}(x) + \sum_{n \in \mathbb{N}} \chi_{A_{p+n}}(x) = [1 + 1 + \dots p \text{ times}] + [0 + \dots] = p$$

Therefore, $C_A(x) = \sum_{n \in \mathbb{N}} \chi_{A_n}(x)$. □

Theorem 2.10. (Second Decomposition Theorem) If $A_n, n \in \mathbb{N}$ be the level sets of a mset A over X , then $A = \bigcup_{n \in \mathbb{N}} nA_n$, where \bigcup denotes the standrad mset union.

Proof. Let $x \in X$ and $C_A(x) = p$.

Then $x \in A_n, n = 1, 2, \dots, p$ and $x \notin A_n, \forall n \geq (p + 1)$.

$$\begin{aligned} \text{Now } C_{\bigcup_{n \in \mathbb{N}} nA_n}(x) &= \bigvee_{n \in \mathbb{N}} \{[nA_n](x)\} \\ &= [1A_1](x) \vee [2A_2](x) \vee \dots \vee [pA_p](x) \vee [(p + 1)A_{p+1}](x) \vee \dots \\ &= \bigvee \{1, 2, \dots, p, 0, 0, \dots\} \\ &= p = C_A(x), \forall x \in X. \end{aligned}$$

Therefore $A = \bigcup_{n \in \mathbb{N}} nA_n$. □

Definition 2.11. Let X and Y be two nonempty sets and $f : X \rightarrow Y$ be a mapping. Then

- (i) the *image* of a mset $M \in [X]^w$ under the mapping f is denoted by $f(M)$ or $f[M]$, where

$$C_{f(M)}(y) = \begin{cases} \bigvee_{f(x)=y} C_M(x) & \text{if } f^{-1}(y) \neq \phi \\ 0 & \text{otherwise} \end{cases}$$

- (ii) the *inverse image* of a mset $N \in [Y]^w$ under the mapping f is denoted by $f^{-1}(N)$ or $f^{-1}[N]$ where $C_{f^{-1}(N)}(x) = C_N[f(x)]$.

Proposition 2.12. *Let X, Y and Z be three nonempty sets and $f : X \rightarrow Y, g : Y \rightarrow Z$ be two mappings. If $M_i \in [X]^w, N_i \in [Y]^w, i \in I$ then*

- (i) $M_1 \subseteq M_2 \Rightarrow f(M_1) \subseteq f(M_2)$.
- (ii) $f[\bigcup_{i \in I} M_i] = \bigcup_{i \in I} f[M_i]$.
- (iii) $N_1 \subseteq N_2 \Rightarrow f^{-1}(N_1) \subseteq f^{-1}(N_2)$.
- (iv) $f^{-1}[\bigcup_{i \in I} M_i] = \bigcup_{i \in I} f^{-1}[M_i]$.
- (v) $f^{-1}[\bigcap_{i \in I} M_i] = \bigcap_{i \in I} f^{-1}[M_i]$.
- (vi) $f(M_i) \subseteq N_j \Rightarrow M_i \subseteq f^{-1}[N_j]$.
- (vii) $g[f(M_i)] = [gf](M_i)$ and $f^{-1}[g^{-1}(N_j)] = [gf]^{-1}(N_j)$.

Proof. We give proof of (vii) and others are straightforward. Let $M_i \in [X]^w$ and $z \in Z$. Then

$$\begin{aligned} C_{g[f(M_i)]}(z) &= \bigvee \{ [C_{f(M_i)}](y); y \in Y, g(y) = z \} \\ &= \bigvee \{ \bigvee \{ C_{M_i}(x); x \in X, f(x) = y, \}; y \in Y, g(y) = z \} \\ &= \bigvee \{ C_{M_i}(x); x \in X, [gf](x) = z \} \\ &= C_{[gf](M_i)}(z). \end{aligned}$$

Therefore $g[f(M_i)] = [gf](M_i)$. Again let $N_j \in [Z]^w$ and $x \in X$. Then

$$C_{[gf]^{-1}(N_j)}(x) = C_{N_j}[gf](x) = C_{N_j}g[f(x)] = C_{g^{-1}(N_j)}f(x) = C_{f^{-1}[g^{-1}(N_j)]}(x).$$

Therefore $f^{-1}[g^{-1}(N_j)] = [gf]^{-1}(N_j)$. □

Proposition 2.13. *Let X and Y be two nonempty sets and $f : X \rightarrow Y$ be a mapping. If $M \in [X]^w$ then*

- (i) $M \tilde{\subset} f^{-1}[f(M)]$.
- (ii) $f^{-1}[f(M)] = M$, if f is injective.

Proof. (i) Since

$$C_{f^{-1}[f(M)]}(x) = C_{f(M)}[f(x)] = \bigvee \{ C_M(x'); x' \in X, f(x') = f(x) \} \geq C_M(x),$$

it follows that $M \tilde{\subset} f^{-1}[f(M)]$.

(ii) If f is injective, then

$$C_{f^{-1}[f(M)]}(x) = C_{f(M)}[f(x)] = \bigvee \{ C_M(x'); x' \in X, f(x') = f(x) \} = C_M(x),$$

and hence $f^{-1}[f(M)] = M$, if f is injective. □

Proposition 2.14. *Let X and Y be two nonempty sets and $f : X \rightarrow Y$ be a mapping. If $N \in [Y]^w$ then*

- (i) $f[f^{-1}(N)] \tilde{\subset} N$.
- (ii) $f[f^{-1}(N)] = N$, if f is surjective.

Proof. The proof is similar to that of Proposition 2.13. □

Definition 2.15. An mset containing only one element x of n times is called a singleton mset and it is denoted by n_x .

3. MULTIGROUPS

Throughout this section, let X be a group and e be the identity element of X . Also throughout the rest of the paper we assume that msets are taken from $[X]^w$ and $MG(X)$ denote the set of all mgroups over a group X .

Definition 3.1. Let $A, B \in [X]^w$. Then we define $A \circ B$ and A^{-1} as follows:

$$C_{A \circ B}(x) = \bigvee \{C_A(y) \wedge C_B(z); y, z \in X \text{ and } yz = x\} \text{ and } C_{A^{-1}}(x) = C_A(x^{-1}).$$

Proposition 3.2. If $A, B, C, A_i \in [X]^w$, then the following assertions hold:

- (i) $C_{A \circ B}(x) = \bigvee_{y \in X} [C_A(y) \wedge C_B(y^{-1}x)] = \bigvee_{y \in X} [C_A(xy^{-1}) \wedge C_B(y)], \forall x \in X;$
- (ii) $[A^{-1}]^{-1} = A;$
- (iii) $A \subseteq B \Rightarrow A^{-1} \subseteq B^{-1};$
- (iv) $[\bigcup_{i \in I} A_i]^{-1} = \bigcup_{i \in I} [A_i^{-1}];$
- (v) $[\bigcap_{i \in I} A_i]^{-1} = \bigcap_{i \in I} [A_i^{-1}];$
- (vi) $(A \circ B)^{-1} = B^{-1} \circ A^{-1};$
- (vii) $(A \circ B) \circ C = A \circ (B \circ C).$

Proof. (i) Since X is a group, it follows that for each $x, y \in X$ there exists a unique $z \in X$ such that $yz = x$. Thus

$$\begin{aligned} C_{A \circ B}(x) &= \bigvee \{C_A(y) \wedge C_B(z); y, z \in X \text{ and } yz = x\} \\ &= \bigvee_{y \in X} [C_A(y) \wedge C_B(y^{-1}x)] = \bigvee_{y \in X} [C_A(xy^{-1}) \wedge C_B(y)], \forall x \in X. \end{aligned}$$

(ii) From Definition 3.1, we have $C_{[A^{-1}]^{-1}}(x) = C_{[A]^{-1}}(x^{-1}) = C_A(x), \forall x \in X$.

Hence $[A^{-1}]^{-1} = A$.

(iii) Since $A \subseteq B$, it follows that $C_A(x) \leq C_B(x), \forall x \in X$.

So, $C_{A^{-1}}(x) = C_A(x^{-1}) \leq C_B(x^{-1}) = C_{B^{-1}}(x), \forall x \in X$.

Hence $A^{-1} \subseteq B^{-1}$.

(iv) Since

$$\begin{aligned} C_{[\bigcup_{i \in I} A_i]^{-1}}(x) &= C_{[\bigcup_{i \in I} A_i]}(x^{-1}) = \bigvee_{i \in I} [C_{A_i}(x^{-1})] \\ &= \bigvee_{i \in I} [C_{A_i^{-1}}(x)] = C_{[\bigcup_{i \in I} A_i^{-1}]}(x), \forall x \in X. \end{aligned}$$

Hence, $[\bigcup_{i \in I} A_i]^{-1} = \bigcup_{i \in I} [A_i^{-1}]$.

(v) Similar to that of item (iv).

(vi) Now,

$$\begin{aligned} C_{(A \circ B)^{-1}}(x) &= C_{(A \circ B)}(x^{-1}) \\ &= \bigvee_{y \in X} [C_A(y) \wedge C_B(z) : \forall y, z \in X \text{ such that } yz = x^{-1}] \\ &= \bigvee_{y \in X} [C_{A^{-1}}(y^{-1}) \wedge C_{B^{-1}}(z^{-1}) : \forall y^{-1}, z^{-1} \in X \text{ such that } (yz)^{-1} = x] \\ &= \bigvee_{z^{-1} \in X} [C_{B^{-1}}(z^{-1}) \wedge C_{A^{-1}}(y^{-1}) : \forall z^{-1}, y^{-1} \in X \text{ such that } z^{-1}y^{-1} = x] \\ &= C_{B^{-1} \circ A^{-1}}(x), \forall x \in X. \end{aligned}$$

Therefore, $(A \circ B)^{-1} = B^{-1} \circ A^{-1}$.

(vii) Can be proved in a similar way. □

Remark 3.3. If $e \in B_*$, then $A \subseteq (A \circ B)$.

Definition 3.4. Let X be a group. A multiset G over X is said to be a *multigroup* over X if the Count function G or C_G satisfies the following two conditions.

- (i) $C_G(xy) \geq [C_G(x) \wedge C_G(y)], \forall x, y \in X;$
- (ii) $C_G(x^{-1}) \geq C_G(x), \forall x \in X.$

The set of all multigroups over X is denoted by $MG(X)$.

Example 3.5. Let $X = \{e, a, b, c\}$ be Klein’s 4-group and

$$G = \{e, e, e, a, a, b, b, b, c, c\}$$

be a multiset over X . Now

$$\begin{aligned} C_G(ea) = C_G(a) = 2 &\geq [C_G(e) \wedge C_G(a)], C_G(eb) = C_G(b) = 3 \geq [C_G(e) \wedge C_G(b)], \\ C_G(ec) = C_G(c) = 2 &\geq [C_G(e) \wedge C_G(c)], C_G(ab) = C_G(c) = 2 \geq [C_G(a) \wedge C_G(b)], \\ C_G(bc) = C_G(a) = 2 &\geq [C_G(b) \wedge C_G(c)], C_G(ca) = C_G(b) = 3 \geq [C_G(c) \wedge C_G(a)], \\ C_G(a^2) = C_G(e) = 3 &\geq [C_G(a) \wedge C_G(a)], C_G(b^2) = C_G(e) = 3 \geq [C_G(b) \wedge C_G(b)], \\ C_G(c^2) = C_G(e) = 3 &\geq [C_G(c) \wedge C_G(c)], C_G(e^2) = C_G(e) = 3 \geq [C_G(e) \wedge C_G(e)] \text{ and} \\ C_G(a^{-1}) = C_G(a) = 2, C_G(b^{-1}) &= C_G(b) = 3, C_G(c^{-1}) = C_G(c) = 2, C_G(e^{-1}) = C_G(e) = 3. \end{aligned}$$

Therefore G is a multigroup over X .

Proposition 3.6. Let $A \in MG(X)$. Then

- (i) $C_A(e) \geq C_A(x), \forall x \in X;$
- (ii) $C_A(x^n) \geq C_A(x), \forall x \in X;$
- (iii) $C_A(x^{-1}) = C_A(x), \forall x \in X;$
- (iv) $A = A^{-1}.$

Proof. Let $x, y \in G$. (i) $C_A(e) = C_A(xx^{-1}) \geq [C_A(x) \wedge C_A(x^{-1})] = [C_A(x) \wedge C_A(x)] = C_A(x), \forall x \in X;$

(ii) $C_A(x^n) \geq C_A(x^{n-1}) \wedge C_A(x) \geq C_A(x^{n-2}) \wedge C_A(x) \wedge C_A(x) \geq [C_A(x) \wedge C_A(x) \wedge \dots \wedge C_A(x)] = C_A(x).$

(iii) Since $C_A(x^{-1}) \geq C_A(x) = C_A([x^{-1}]^{-1}) \geq C_A(x^{-1}).$

Hence $C_A(x^{-1}) = C_A(x).$

(iv) Since $C_{A^{-1}}(x) = C_A(x^{-1}) = C_A(x).$ Hence $A = A^{-1}.$ □

Proposition 3.7. Let A be a mset. Then $A \in MG(X)$ iff $C_A(xy^{-1}) \geq [C_A(x) \wedge C_A(y)], \forall x, y \in X.$

Proof. Let $A \in MG(X)$. Then

$$C_A(xy^{-1}) \geq [C_A(x) \wedge C_A(y^{-1})] = [C_A(x) \wedge C_A(y)], \forall x, y \in X.$$

Therefore the given condition is satisfied.

Conversely let the given condition be satisfied. Now, $C_A(e) = C_A(xx^{-1}) \geq C_A(x) \wedge C_A(x) = C_A(x), \forall x \in X. \dots\dots(1)$

Again $C_A(x^{-1}) = C_A(ex^{-1}) \geq C_A(e) \wedge C_A(x) = C_A(x), \forall x \in X$ [From (1)].....(2)

Also $C_A(xy) = C_A[x(y^{-1})^{-1}] \geq [C_A(x) \wedge C_A(y^{-1})] \geq [C_A(x) \wedge C_A(y)]$ [From (2)].....(3)

Therefore, from (2) and (3) we have $A \in MG(X).$ □

Definition 3.8. Let $A \in MG(X)$. Then define $A_n = \{x \in X; C_A(x) \geq n, n \in \mathbb{N}\}$.

Proposition 3.9. Let $A \in MG(X)$. Then $A_n, n \in \mathbb{N}$ are subgroups of X .

Proof. Let $x, y \in A_n$. Then $C_A(x) \geq n$ and $C_A(y) \geq n$. Since $A \in MG(X)$, it follows that $C_A(xy^{-1}) \geq [C_A(x) \wedge C_A(y)] \geq n$. Hence $xy^{-1} \in A_n$. Therefore, $A_n, n \in \mathbb{N}$ are subgroups of X . \square

Proposition 3.10. If $A_n, n \in \mathbb{N}$ are subgroups of X , then the mset A , define in Theorem 2.9, is a mgroup over X .

Proof. Let $x, y \in X$ and $C_A(x) = p, C_A(y) = q$. Then $x \in A_p, p = 1, 2, \dots, p, x \notin A_{p+n}, n \in \mathbb{N}, x \in A_q, q = 1, 2, \dots, q$ and $x \notin A_{q+n}, n \in \mathbb{N}$. Let $\min\{p, q\} = p$. Since $A_n, n \in \mathbb{N}$ are subgroups of X , it follows that $xy^{-1} \in A_p, p = 1, 2, \dots, p$ and hence $C_A(xy^{-1}) \geq p = \min\{p, q\} = C_A(x) \wedge C_A(y)$. Therefore, $A \in MG(X)$. \square

Definition 3.11. Let $A \in MG(X)$. Then define $A^* = \{x \in X; C_A(x) = C_A(e)\}$ and $A_* = \{x \in X; C_A(x) > 0\}$.

Proposition 3.12. Let $A \in MG(X)$. Then A_* and A^* are subgroups of X .

Proof. Let $x, y \in A^*$. Then $C_A(x) = C_A(y) = C_A(e)$. Now

$$C_A(xy^{-1}) \geq [C_A(x) \wedge C_A(y)] = [C_A(e) \wedge C_A(e)] = C_A(e) \geq C_A(xy^{-1}).$$

So, $C_A(xy^{-1}) = C_A(e), \forall x, y \in X$ and hence $x, y \in A^* \Rightarrow xy^{-1} \in A^*$. Therefore A^* is a subgroup of X .

Again let $x, y \in A_*$. Then $C_A(x) > 0$ and $C_A(y) > 0$. Now $C_A(xy^{-1}) \geq [C_A(x) \wedge C_A(y)] > 0$. Therefore, $x, y \in A_* \Rightarrow xy^{-1} \in A_*$ and hence A_* is a subgroup of X . \square

Proposition 3.13. Let $A \in MS(X)$. Then $A \in MG(X)$ iff A satisfies the following conditions:

- (a) (i) $A \circ A \subseteq A$;
- (ii) $A^{-1} \subseteq A$ or $A \subseteq A^{-1}$ or $A^{-1} = A$.
- or
- (b) $A \circ A^{-1} \subseteq A$.

Proof. Let $A \in MG(X)$. Then $C_A(yz) \geq C_A(y) \wedge C_A(z), \forall y, z \in X$. Thus, $C_A(x) \geq \{C_A(y) \wedge C_A(z) : yz = x\}$. Hence

$$C_A(x) \geq \bigvee_{y,z \in X} \{C_A(y) \wedge C_A(z) : yz = x\} = C_{A \circ A}(x), \forall x \in X.$$

Therefore, $A \circ A \subseteq A$. Again since $C_{A^{-1}}(x) = C_A(x^{-1}) = C_A(x)$, it follows that $A = A^{-1}$ and hence $A \subseteq A^{-1}$ and $A^{-1} \subseteq A$. Thus the given conditions are satisfied.

Conversely let the given conditions are satisfied. Let $x, y \in X$. Then $C_A(xy^{-1}) \geq C_{A \circ A}(xy^{-1}) = \bigvee_{z \in X} [C_A(z) \wedge C_A(z^{-1}xy^{-1})] \geq [C_A(x) \wedge C_A(y^{-1})] = [C_A(x) \wedge C_A(y)]$. Therefore $A \in MG(X)$.

Similarly we can proof the ‘or’ part. \square

Remark 3.14. By Proposition 3.2, the condition a(i) is equivalent to a(i’) $A \circ A = A$ and condition (b) is equivalent to (b’) $A \circ A^{-1} = A$.

Proposition 3.15. Let $A, B \in MG(X)$. Then $A \circ B \in MG(X)$ iff $A \circ B = B \circ A$.

Proof. Since $A, B \in MG(X)$, it follows that $A = A^{-1}$ and $B = B^{-1}$. Suppose $A \circ B \in MG(X)$. Then $A \circ B = (A \circ B)^{-1} = B^{-1} \circ A^{-1} = B \circ A$.

Conversely let $A \circ B = B \circ A$. Then $(A \circ B)^{-1} = (B \circ A)^{-1} = A^{-1} \circ B^{-1} = A \circ B$ and $(A \circ B) \circ (A \circ B) = A \circ (B \circ A) \circ B = A \circ (A \circ B) \circ B = (A \circ A) \circ (B \circ B) \subseteq A \circ B$. Therefore $A \circ B \in MG(X)$. \square

Proposition 3.16. *Let $A, B \in MG(X)$. Then $A \cap B \in MG(X)$.*

Proof. Since $A, B \in MG(X)$, we have $C_A(xy^{-1}) \geq [C_A(x) \wedge C_A(y)]$ and $C_B(xy^{-1}) \geq [C_B(x) \wedge C_B(y)]$, $\forall x, y \in X$. Now

$$\begin{aligned} C_{A \cap B}(xy^{-1}) &= \wedge\{C_A(xy^{-1}), C_B(xy^{-1})\} \\ &\geq \wedge\{[C_A(x) \wedge C_A(y)], [C_B(x) \wedge C_B(y)]\} \\ &= C_A(x) \wedge C_A(y) \wedge C_B(x) \wedge C_B(y) \\ &= [C_A(x) \wedge C_B(x)] \wedge [C_A(y) \wedge C_B(y)] \\ &= C_{A \cap B}(x) \wedge C_{A \cap B}(y) \\ \text{and } C_{A \cap B}(x^{-1}) &= C_A(x^{-1}) \wedge C_B(x^{-1}) \\ &= C_A(x) \wedge C_B(x) = C_{A \cap B}(x). \end{aligned}$$

Therefore $A \cap B \in MG(X)$. \square

Remark 3.17. If $\{A_i, i \in I\}$ be a family of multigroups over a group X , then their intersection $\cap_{i \in I} A_i$ is a multigroup over X .

Remark 3.18. If $A, B \in MG(X)$, then the following example shows that their union $A \cup B$ is not a multigroup over X in general.

Example 3.19. Let $X = K_4 = \{e, a, b, c\}$ be the Klein’s 4-group,

$$A = \{e, e, a\} \text{ and } B = \{e, e, b\}. \text{ Then } A, B \in MG(X).$$

Clearly $A \cup B = \{e, e, a, b\}$ and $C_{A \cup B}(c) = C_{A \cup B}(ab) = 0 \not\geq \wedge[C_{A \cup B}(a), C_{A \cup B}(b)] = 1$. Therefore $A \cup B$ is not a multigroup over X .

Definition 3.20. Let A and B be two multigroups over a group X . Then A is said to be a submultigroup of B if $A \subseteq B$.

Example 3.21. Let $X = \{e, a, b, c\}$ be the Klein’s 4-group,

$$A = \{e, e, a, a, b, b, c, c\} \text{ and } B = \{e, e, e, a, a, b, b, b, c, c\}.$$

Then clearly $A, B \in MG(X)$ and $A \subseteq B$. Therefore, A is a submultigroup of B .

Proposition 3.22. *Let X, Y be two groups and $f : X \rightarrow Y$ be a homomorphism. If $A \in MG(X)$, then $f(A) \in MG(Y)$.*

Proof. Let $u, v \in Y$.

Case-I: Let $u, v \notin f(X)$. Then $C_{f(A)}(u) \wedge C_{f(A)}(v) = 0 \wedge 0 \leq C_{f(A)}(uv)$.

Case-II: Let $u \notin f(X)$. Then $u^{-1} \notin f(X)$ and $C_{f(A)}(u) \wedge C_{f(A)}(v) = 0 \wedge C_{f(A)}(v) = 0 \leq C_{f(A)}(uv)$.

Case-III: Let $u, v \in f(X)$. Then $\exists x, y \in X$ such that $f(x) = u$ and $f(y) = v$.
Now

$$\begin{aligned} C_{f(A)}(uv) &= \vee\{C_A(w); w \in X, f(w) = uv\} \\ &\geq \{C_A(xy); x, y \in X, f(x) = u, f(y) = v\} \\ &\geq \{C_A(x) \wedge C_A(y); x, y \in X, f(x) = u, f(y) = v\} \\ &= [\vee\{C_A(x); x \in X, f(x) = u\}] \wedge [\vee\{C_A(y); y \in X, f(y) = v\}] \\ &= [C_{f(A)}(u)] \wedge [C_{f(A)}(v)]. \end{aligned}$$

Also

$$\begin{aligned} C_{f(A)}(u^{-1}) &= \vee\{C_A(z); z \in Y, f(z) = u^{-1}\} \\ &= \vee\{C_A(z^{-1}), z \in Y, f(z^{-1}) = u\} = C_{f(A)}(u). \end{aligned}$$

Therefore, $f(A) \in MG(Y)$. □

Proposition 3.23. Let X, Y be two groups and $f : X \rightarrow Y$ be a homomorphism. If $B \in MG(Y)$, then $f^{-1}(B) \in MG(X)$.

Proof. Proof is similar to that of Proposition 3.22. □

Proposition 3.24. Let $A \in MS(X)$. Then the following assertions are equivalent:

- (i) $C_A(xy) = C_A(yx), \forall x, y \in X$;
- (ii) $C_A(xyx^{-1}) = C_A(y) \forall x, y \in X$;
- (iii) $C_A(xyx^{-1}) \geq C_A(y) \forall x, y \in X$;
- (iv) $C_A(xyx^{-1}) \leq C_A(y) \forall x, y \in X$.

Proof. (i) \Rightarrow (ii) : Let $x, y \in X$. Then $C_A(xyx^{-1}) = C_A(x^{-1}xy) = C_A(y)$.

(ii) \Rightarrow (iii) : straightforward.

(iii) \Rightarrow (iv) : $C_A(xyx^{-1}) \leq C_A(x^{-1}[xyx^{-1}](x^{-1})^{-1}) = C_A(y)$.

(iv) \Rightarrow (i) : Let $x, y \in X$. Then

$$C_A(xy) = C_A(x[yx]x^{-1}) \leq C_A(yx) = C_A(y[xy]y^{-1}) \leq C_A(xy).$$

Hence $C_A(xy) = C_A(yx)$. Thus the above assertions are equivalent. □

Proposition 3.25. Let $A \in MS(X)$. Then the following assertions are equivalent.

- (i) $C_A(xy) = C_A(yx), \forall x, y \in X$;
- (ii) $A \circ B = B \circ A, \forall B \in MS(X)$.

Proof. (i) \Rightarrow (ii) : Let $x \in X$. Then

$$\begin{aligned} C_{A \circ B}(x) &= \vee_{y \in X} [C_A(xy^{-1}) \wedge C_B(y)] \\ &= \vee_{y \in X} [C_B(y) \wedge C_A(y^{-1}x)] \\ &= C_{B \circ A}(x). \end{aligned}$$

Hence $A \circ B = B \circ A$.

(ii) \Rightarrow (i) : Let $x, y \in X, [C_A(xy) \vee C_A(yx)] = n$ and $T = n_{y^{-1}}$. Then $T \in MS(X)$. Since $A \circ B = B \circ A, \forall B \in MS(X)$, it follows that $A \circ T = T \circ A$ and hence $C_{A \circ T}(x) = C_{T \circ A}(x), \forall x \in X$. Now $C_{A \circ T}(x) = \vee_{uv=x} \{C_A(u) \wedge C_T(v)\} = C_A(xy) \wedge C_T(y^{-1}) = C_A(xy)$.

Similarly we have $C_{T \circ A}(x) = C_A(yx)$. Hence $C_A(xy) = C_A(yx), \forall x, y \in X$. □

Definition 3.26. A mgroup G over X is called *abelian* over X if $C_G(xy) = C_G(yx)$, $\forall x, y \in X$. Let $AMG(X)$ denote the set of all abelian mgroups over X .

Example 3.27. Let X be an abelian group and G be a mgroup over X . Then G is an abelian mgroup over X .

Proposition 3.28. Let $A \in AMG(X)$. The A^* , A_* and A_n , $n \in \mathbb{N}$ are normal subgroups of X .

Proof. By Proposition 3.12 and 3.9, A^* , A_* and A_n , $n \in \mathbb{N}$ are subgroups of X . Let $x \in X$ and $y \in A_*$. Then $C_A(y) > 0$ and by Proposition 3.24, $C_A(xyx^{-1}) = C_A(y) > 0$. Thus $xyx^{-1} \in A_*$ and hence A_* is a normal subgroup of X .

Similarly A^* is also a normal subgroup of X .

Let $x \in X$ and $y \in A_n$. Then $C_A(y) \geq n$ and by Proposition 3.24, $C_A(xyx^{-1}) = C_A(y) \geq n$. Thus $xyx^{-1} \in A_n$ and hence A_n , $n \in \mathbb{N}$ are a normal subgroups of X .

Similarly A_* is also a normal subgroup of X . □

Definition 3.29. Let $H \in MG(X)$ and $x \in X$. Also let e be the identity element of X and $[C_H(e)]_x$ be as in Definition 2.15. Then

(i) the mset $[C_H(e)]_x \circ H$ is called a left mcoset of H in X and is denoted by xH , where

$$\begin{aligned} C_{xH}(z) &= \vee \{C_{[C_H(e)]_x}(u) \wedge C_H(v); u, v \in X, uv = z\} \\ &= C_{[C_H(e)]_x}(x) \wedge C_H(x^{-1}z) = C_H(e) \wedge C_H(x^{-1}z) = C_H(x^{-1}z). \end{aligned}$$

(ii) the mset $H \circ [C_H(e)]_x$ is called a right mcoset of H in X and is denoted by Hx , where

$$\begin{aligned} C_{Hx}(z) &= \vee \{C_H(u) \wedge C_{[C_H(e)]_x}(v); u, v \in X, uv = z\} \\ &= C_H(zx^{-1}) \wedge C_{[C_H(e)]_x}(x) = C_H(zx^{-1}) \wedge C_H(e) = C_H(zx^{-1}). \end{aligned}$$

Remark 3.30. If $H \in AMG(X)$, then $xH = Hx$, $\forall x \in X$.

Proposition 3.31. Let $H \in MG(X)$. Then $\forall x, y \in X$,

- (i) $xH = yH \iff xH_* = yH_*$;
- (ii) $Hx = Hy \iff H_*x = H_*y$

Proof. (i) Let $xH = yH$. Then $[C_H(e)]_x \circ H = [C_H(e)]_y \circ H$ and hence $C_H(x^{-1}z) = C_H(y^{-1}z)$, $\forall z \in X$. In particular $C_H(x^{-1}y) = C_H(y^{-1}y) = C_H(e)$. Thus $x^{-1}y \in H_*$ and hence $xH_* = yH_*$.

Conversely let $xH_* = yH_*$. Then $x^{-1}y, y^{-1}x \in H_*$. Now

$$\begin{aligned} C_H(x^{-1}z) &= C_H([x^{-1}y][y^{-1}z]) \geq C_H(x^{-1}y) \wedge C_H(y^{-1}z) \\ &= C_H(e) \wedge C_H(y^{-1}z) = C_H(y^{-1}z), \forall z \in X. \end{aligned}$$

Similarly, $C_H(y^{-1}z) \geq C_H(x^{-1}z)$, $\forall z \in X$. Therefore, $C_H(x^{-1}z) = C_H(y^{-1}z)$, $\forall z \in X$ which shows that $xH = yH$.

(ii) Proof is similar to that of part (i). □

Proposition 3.32. Let $H \in AMG(X)$. If $xH = yH$, then $C_H(x) = C_H(y)$, $\forall x, y \in X$.

Proof: Let $xH = yH$. Then by Proposition 3.31, $x^{-1}y, y^{-1}x \in H_*$. Since $H \in AMG(X)$, it follows that $C_H(x) = C_H(y^{-1}xy) \geq [C_H(y^{-1}x) \wedge C_H(y) = C_H(e) \wedge C_H(y) = C_H(y)]$. Similarly $C_H(y) \geq C_H(x)$ and therefore $C_H(x) = C_H(y)$.

Proposition 3.33. Let $H \in AMG(X)$ and define $X/H = \{xH; x \in X\}$. Then the following assertions hold:

- (i) $(xH) \circ (yH) = (xy)H, \forall x, y \in X$;
- (ii) If $xH = x_1H$ and $yH = y_1H$ then $(xy)H = (x_1y_1)H$;
- (iii) $(X/H, \circ)$ is a group;
- (iv) $X/H \simeq X/H^*$;

Proof. (i) For all $x, y \in X$, we have

$$\begin{aligned} (xH) \circ (yH) &= ([C_H(e)]_x \circ H) \circ ([C_H(e)]_y \circ H) \\ &= ([C_H(e)]_x \circ H) \circ (H \circ [C_H(e)]_y) \text{ (by Proposition 3.25)} \\ &= [C_H(e)]_x \circ (H \circ H) \circ [C_H(e)]_y \text{ (by associativity of } \circ) \\ &= [C_H(e)]_x \circ H \circ [C_H(e)]_y \text{ (by Remark 3.14)} \\ &= [C_H(e)]_x \circ [C_H(e)]_y \circ H \text{ (since } H \text{ is abelian)} \\ &= ([C_H(e)]_{xy} \circ H = (xy)H. \end{aligned}$$

(ii) Let $xH = x_1H$ and $yH = y_1H$. Then $C_H(x^{-1}z) = C_H(x_1^{-1}z)$ and $C_H(y^{-1}z) = C_H(y_1^{-1}z), \forall z \in X$. Now

$$\begin{aligned} C_H[(xy)^{-1}z] &= C_H[y^{-1}x^{-1}z] = C_H[y_1^{-1}x_1^{-1}z] \\ &= C_H[x^{-1}zy_1^{-1}] = C_H[x_1^{-1}zy_1^{-1}] \\ &= C_H[y_1^{-1}x_1^{-1}z] = C_H[(x_1y_1)^{-1}z], \forall z \in X. \end{aligned}$$

Therefore $(xy)H = (x_1y_1)H$.

(iii) From (ii), the composition is well defined. From (i), X/H is closed under the operation \circ . Also by Proposition 3.2, \circ is associative. Now $H \circ xH = eH \circ xH = (ex)H = xH, \forall x \in X$ and $x^{-1}H \circ xH = (xx^{-1})H = eH = H, \forall x \in X$. Therefore, $(X/H, \circ)$ is a group.

(iv) Since $H \in AMG(X)$, it follows that H^* is a normal subgroup of X and hence X/H^* is a group. Now let $f : X/H \rightarrow X/H^*$, defined by $f(xH) = xH^*$. Then f is an isomorphism and hence $X/H \simeq X/H^*$. \square

The group X/H is called the factor mgroup (or quotient mgroup) of X relative to the normal mgroup H .

Proposition 3.34. Let $A \in MG(X)$ and N be a normal subgroup of X . Define $\hat{A} \in MS(X/N)$ such that $C_{\hat{A}}(xN) = \bigvee \{C_A(z); z \in xN\}, \forall x \in X$. Then $\hat{A} \in MG(X/N)$.

Proof. Now

$$\begin{aligned} C_{\hat{A}}[(xN)^{-1}] &= C_{\hat{A}}(x^{-1}N) = \vee\{C_A(z); z \in x^{-1}N\} \\ &= \vee\{C_A(w^{-1}); w^{-1} \in x^{-1}N\} \\ &= \vee\{C_A(w); w \in xN\} \text{ (} w \in xN \text{ if and only if } w^{-1} \in x^{-1}N, \\ &\quad \text{as } N \text{ is a normal subgroup of } X\text{)} \\ &= C_{\hat{A}}(xN), \forall x \in X. \end{aligned}$$

Again

$$\begin{aligned} C_{\hat{A}}(xNyN) &= \vee\{C_A(z); z \in xyN\} = \vee\{C_A(uv); u \in xN, v \in yN\} \\ &\geq \vee\{C_A(u) \wedge C_A(v); u \in xN, v \in yN\} \\ &= [\vee\{C_A(u); u \in xN\}] \wedge [\vee\{C_A(v); v \in yN\}] \\ &= C_{\hat{A}}(xN) \wedge C_{\hat{A}}(yN), \forall x, y \in X. \end{aligned}$$

Hence $\hat{A} \in MG(X/N)$. □

Definition 3.35. The mgroup \hat{A} , as in Proposition 3.34 is called the factor mgroup of the mgroup A over X relative to the normal subgroup N of X and is denoted by A/N .

Proposition 3.36. Let $H \in AMG(X)$ and Y be a group. Suppose that $f : X \rightarrow Y$ be an onto homomorphism. Then $f(H) \in AMG(Y)$.

Proof. By Proposition 3.22, $f(H) \in MG(Y)$. Now let $y, z \in Y$. Since f is onto, $\exists u \in X$ such that $f(u) = z$. Thus

$$\begin{aligned} C_{f(H)}(zyz^{-1}) &= \vee\{C_H(w); w \in X, f(w) = zyz^{-1}\} \\ &= \vee\{C_H(u^{-1}wu); w \in X, f(u^{-1}wu) = y\} \\ &= \vee\{C_H(v); v \in X, f(v) = y\} = C_{f(H)}(y). \end{aligned}$$

Therefore, $f(H) \in AMG(Y)$. □

Proposition 3.37. Let $H \in AMG(Y)$ and X be a group. Suppose that $f : X \rightarrow Y$ be an into homomorphism. Then $f^{-1}(H) \in AMG(X)$.

Proof. By Proposition 3.23, $f^{-1}(H) \in MG(X)$. Let $x, z \in X$. Thus

$$\begin{aligned} C_{f^{-1}(H)}(xz) &= C_H[f(xz)] = C_H[f(x)f(z)] = C_H[f(z)f(x)] \\ &= C_H[f(zx)] = C_{f^{-1}(H)}(zx). \end{aligned}$$

Therefore, $f^{-1}(H) \in NMG(X)$. □

4. CONCLUSION

In this paper, we have introduced the notion of mgroups for the first time, and studied its important properties. We have studied some basic properties of msets also. The theory of msets and mgroups can be very useful in many areas like information retrieval on the web, data encryption, data mining, coding theory, decision making etc. One can further study the deeper properties of mgroups viz. the isomorphism theorems etc. In future we will study mgroup structures on several hybrid sets like fuzzy msets, soft msets etc.

Acknowledgements. The authors express their sincere thanks to the reviewers for their valuable suggestions. The authors are also thankful to the editors-in-chief and managing editors for their important comments which helped improve the presentation of the paper. The present work is partially supported by the Special Assistance Programme (SAP) of UGC, New Delhi, India [Grant No. F 510/8/DRS/2009 (SAP -II)].

REFERENCES

- [1] H. Aktas and N. Cagman, Soft sets and soft groups, *Inform. Sci.* 177 (2007) 2726–2735.
- [2] S. Alkhazdeh, A. R. Salleh and N. Hassan, Soft multiset theory, *Appl. Math. Sci.* 5(72) (2011) 3561–3573.
- [3] W. D. Blizard, Multiset theory, *Notre Dame J. Formal Logic*, 30 (1989) 36–66.
- [4] A. Bronselaer, D. V. Birtsom and G. D. Tre, A framework for multiset merging, *Fuzzy Sets Systems* 191 (2012) 1–20.
- [5] N. G. De Bruijn, Denumerations of rooted trees and multisets, *Discrete Appl. Math.* 6(1) (1983) 25–33.
- [6] J. Casanovas and F. Rossello, Scalar and fuzzy cardinalities of crisp and fuzzy multisets, *Int. J. Intell. Syst.* 24 (2009) 587–623.
- [7] K. Chakraborty, On bags and fuzzy bags, *Adv. Soft Comput. Techniq. Appl.* 25 (2000) 201–212.
- [8] K. Chakraborty, Notion of fuzzy IC-bags, *Internat. J. Uncertain. Fuzziness Knowledge-Based Systems* 12(3) (2004) 327–345.
- [9] K. Chakraborty, R. Biswas and S. Nanda, Fuzzy shadows, *Fuzzy Sets Systems* 101 (1999) 413–421.
- [10] K. Chakraborty, R. Biswas and S. Nanda, On Yager’s theory of bags and fuzzy bags, *Comput. Artificial Intelligence* 18(1) (1999) 1–17.
- [11] M. Delgado, M. J. Martin–Bautista, D. Sanchez and M. A. Vila, A Probabilistic definition of a nonconvex fuzzy cardinality, *Fuzzy Sets Systems* 126 (2002) 41–54.
- [12] M. Delgado, M. J. Martin–Bautista, D. Sanchez and M. A. Vila, An extended characterization of fuzzy bags, *Int. J. Intell. Syst.* 24 (2009) 706–721.
- [13] M. Delgado, M. D. Ruiz and D. Sanchez, Pattern extraction from bag data bases, *Internat. J. Uncertain. Fuzziness Knowledge-Based Systems* 16 (2008) 475–494.
- [14] M. Delgado, M. D. Ruiz and D. Sanchez, RL-bags: A conceptual, level-based approach to fuzzy bags, *Fuzzy Sets and Systems* 208 (2012) 111–128.
- [15] YU Feng, Intuitionistic L-fuzzy groups, School of Power Engineering, Nanjing University of Science and Technology, Nanjing 210094, P.R.China.
- [16] K. P. Girish and S. J. John, Relations and functions in multiset context, *Inform. Sci.* 179(6)(2009) 758–768.
- [17] K. P. Girish and S. J. John, General relations between partially ordered multisets and their chains and antichains, *Math. Commun.* 14(2) (2009) 193–206.
- [18] A. Hallez, A. Bronselaer and G. D. Tre, Comparison of sets and multisets, *Internat. J. Uncertain. Fuzziness Knowledge-Based Systems* 17 (Suppl. 1) (2009) 153–172.
- [19] J. L. Hickman, A note on the concept of multiset, *Bull. Austral. Math. Soc.* 22(2) (1980) 211–217.
- [20] A. Klausner and N. Goodman, Multirelations-Semantics and languages, in: *Proceedings of the 11th Conference on Very Large Data Bases VLDB’85*, 1985, pp. 251–258.
- [21] D. E. Knuth, *The Art of computer programming, Vol 2: Semi numerical algorithms*. Addison-Wesley (1981).
- [22] W. A. Kosters and J. F. J. Laros, Metrics for mining multisets, in: *27th SGAI International Conference on Innovative Techniques and Applications of Artificial Intelligence*, 2007, pp. 293–303.
- [23] B. Li, W. Peizhang and L. Xihui, Fuzzy bags with set-valued statistics, *Comput. Math. Appl.* 15 (1988) 3–39.

- [24] P. Majumdar and S. K. Samanta, Soft multisets, *J. Math. Comput. Sci.* 2(6) (2012) 1700–1711.
- [25] S. Miyamoto, Operations for real-valued bags and bag relations, in *ISEA–EUSFLAT*, (2009)612–617.
- [26] S. Miyamoto, Two generalizations of multisets, in: M. Inuiguchi, S. Tsumito eds., *Rough Set theory & Granular computing*, Springer, (2003) pp 59–68.
- [27] I. S. Mumick, H. Pirahesh and R. Ramakrishnan, The magic of duplicates and aggregates, in: *Proceedings of the 16th Conference on Very Large Data Bases VLDB'90*, 1990, pp. 264–277.
- [28] G. Paun and M. J. Perez-Jimenez, Membrane computing: brief introduction, recent results and applications, *Bio Systems* 85 (2006) 11–22.
- [29] A. Rosenfeld, Fuzzy groups, *J. Math. Anal. Appl.* 35 (1971) 512–517.
- [30] R. R. Yager, On the theory of bags, *Internat. J. Gen. Systems* 13(1) (1987) 23–37.

SK. NAZMUL (sk.nazmul_math@yahoo.in)

Department of Mathematics, Govt. College of Education, Burdwan, Kazirhat, Lakurdi, Burdwan-713102, West Bengal, India

P. MAJUMDAR (pmajumdar2@radiffmail.com)

Department of Mathematics, M. U. C. women's College, B. C. Road, Burdwan-713104, West Bengal, India

S. K. SAMANTA (syamal_123@yahoo.co.in)

Department of Mathematics, Visva-Bharati, Santiniketan-731235, West Bengal, India